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	1.
	(a)
	Express 0.25% as a fraction in its simplest form.
	

	
	
	0.25%
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	Ans:
	(a)
	
	 [1]

	
	
	
	

	
	(b)
	Express 
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 as a decimal correct to 2 decimal places.
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	Ans:
	(b)
	
	[1]

	
	
	
	

	
	(c)
	Evaluate 
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 correct to 3 significant figures.
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	Ans:
	(c)
	
	[1]

	
	
	
	
	

	2.
	Fill in each of the boxes with ‘<’, ‘=’ or ‘>’.
	

	
	(a)
	2 × 
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 − 3 ÷ 12  
	<
	−8 ÷ (−3 ) × 
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	[1]

	
	
	
	
	
	

	
	(b)
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	[1]

	
	
	
	
	
	

	3.
	Represent the prime numbers from 0 to 8 on a number line.
	

	
	
	
	

	
	Ans:
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	Appropriate number line = [1]
	

	
	
	Correct points = [1]
	

	
	
	
	[2]


	4.
	Given that a : b = 
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3

 : 
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1

 and a : c = 12 : 5.
	

	
	(a)
	Simplify a : b.
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	Ans:
	(a)
	
	[1]

	
	
	
	

	
	(b)
	Find a : b : c.
	

	
	a

:

b

:

c

2

:

3

12

:

18

[1]

12

:

5

12

:

18

:

5               

[1]


	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	Ans:
	(b)
	
	[2]

	
	
	

	5.
	A man travelled eastwards on a straight road from Town X to Town Y, 50 km away. Exactly halfway through the journey, he made a U-turn and travelled 20 km west to visit his mother. He then continued east for 40 km. How far was he from Town Y?
	

	
	Distance from Town Y

=

50 – [25+(−20)+40]

[1]

=

5 km

[1]


	

	
	
	

	
	
	

	
	Ans:
	km
	[2]

	
	
	
	

	6.
	Due to the financial crisis, the number of tourists visiting Sentosa has decreased by 15% to 23 800 in the month of August 2009 as compared to the month of July 2009. Calculate the number of tourists who visited Sentosa in the month of July 2009.
	

	
	85%


23800

[1]

100%


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[1]


	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	Ans:
	
	[2]


	7.
	(a)
	Express 504 as a product of prime factors giving your answer in index notation.
	

	
	2

505

2

252

       504 = 23 × 32 × 7

2

126

3

63

3

21

7

7

1


	

	
	
	[1]

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	[1]

	
	
	

	
	Ans:
	(a)
	
	[2]

	
	
	

	
	(b)
	Hence, find the cube root of 504 × 3 × 72.
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[1]

=

2 × 3 × 7

=

42

[1]


	

	
	
	
	

	
	
	
	

	
	
	
	

	
	Ans:
	(b)
	
	[2]

	
	
	
	

	
	(c)
	Given two other numbers, A = 23 × 3 × 5 × 72 and B = 22 ×34 ×5.
Find the HCF and LCM of the numbers 504, A and B.
	

	
	
	HCF = 22 × 3 = 12
	

	
	
	LCM = 23 × 34 × 5 × 72 = 158760
	

	
	 Ans:
	HCF =
	
	[1]

	
	
	
	
	

	
	
	LCM =
	
	[1]

	
	
	

	8.
	Factorise completely the following expressions.
	

	
	(a)
	4x2 – 2x 
	

	
	
	= 2x( 2x – 1)
	

	
	Ans:
	(a)
	
	[1]

	
	
	
	

	
	(b)
	2ax + by + 2ay + bx
	

	
	
	= 2ax + 2ay + bx + by
	

	
	
	= 2a(x + y) + b(x + y)
	[1]

	
	
	= (x + y)(2a + b)
	[1]

	
	Ans:
	(b)
	
	[2]


	9.
	(a)
	Simplify the following expressions.
	

	
	
	(i)
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	Ans:
	(a)
	(i)
	[2]

	
	
	
	

	
	
	(ii)
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[1]


	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	Ans:
	(a)
	(ii)
	[3]

	
	
	
	
	

	
	(b)
	Expand and simplify the expression,

                                2(3x – 5y) + 3(7x + 4y).
	

	
	
	2(3x – 5y) + 3(7x + 4y)

= 6x – 10y + 21x + 12y
[1]

= 27x + 2y
[1]


	

	
	
	
	

	
	Ans:
	(b)
	
	[2]

	
	
	

	10.
	Simplify
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	Ans:
	
	[3]


	11.
	The bar chart represents the number of students in different schools representing Singapore soccer team in the Youth Olympics 2010. 
	

	
	Number of Schools
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	(a)
	Find the total number of schools with students representing Singapore.
	

	
	
	Total

= 4 + 6 + 3 + 1

= 14


	

	
	
	
	

	
	Ans:
	(a)
	
	[1]

	
	
	
	

	
	(b)
	Calculate the fraction of schools with 3 or more students representing Singapore?
	

	
	
	Required fraction

= 4/14

= 2/7


	

	
	
	
	

	
	Ans:
	(b)
	
	[1]

	
	
	
	

	
	(c)
	Find the percentage of schools with 1 student representing Singapore?
	

	
	
	Required %

= 
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	Ans:
	(c)
	%
	[1]

	
	
	
	

	
	(d)
	Find the total number of students representing Singapore in the Youth Olympics.
	

	
	
	Total

= (4 × 1) + (6 × 2) + (3 × 3) + (4 × 1)

[1]

= 29

[1]


	

	
	
	
	

	
	Ans:
	(d)
	
	[2]

	12.
	In the figure, AB is parallel to DE. Given that 
[image: image38.wmf]Ð

DEA = 48°, 
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ABC = 6y − 22° and 
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BCE = 86°, find 
	

	
	(a)
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BAE,
	[1]

	
	(b)
	the value of y.
	[3]
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	(i) (BAE

= 48° (Alt Angles, AB//DE

[1]

(ii) 48° + 6y - 22°

= 86° (Ext angle of triangle)

[1]

      6y

= 60°

[1]

      Y
= 10°

[1]


	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	Ans: (a)
	°
	[1]

	
	
	
	
	

	
	(b)
	y =
	°
	[3]


	13.
	Answer the whole question on a piece of graph paper.
	

	
	(a)
	Using a scale of 1 cm to represent 1 unit on both axes, construct the x-axis from −4 to 7 and the y-axis from −3 to 5. Mark and label clearly each of the following points with a cross ‘×’. 

A(−3, 4), B(−3,0) and C(3, 0).  
	[2]

	
	(b)
	Draw a straight line through the points A and C.
	[1]

	
	(c)
	Find the gradient of the line AC.
	[2]

	
	(d)
	The point (6, a) lies on the line. Find the value of a graphically.
	[1]

	
	(e)
	Join point A to point B with a straight line. Hence, calculate the area of the triangle ABC.
	[2]
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